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There are forty questions on this paper. For each question there are four possible answers
A B CandD

Choose the one you consider correct and record your choice in soft pencil on the separate
Answer Sheet (OTAS).

Questions set on the Common Last Topic of the syliabus do not form part of the assessment.
They will not be marked by the Examiners.

Do not answer the following questions:
Question 39 on page 17
Question 40 on page 17
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1  The diagram shows a Verier caliper after it has been used to measure the diameter

of a pipe.

Given that the Vernier caliper has a zero error of -0.02 cm, what is the diameter of

the pipe?
A 8.60 cm B 8.62 cmi
c 8.64 cm D 8.72 cm

2 The diagram below shows a mass suspended on a spring. The mass is displaced
downwards and released. It takes the mass 0.2 s to move from the lowest to the highest

position.

What is the frequency of oscillation?
A 0.20 Hz B 1.25 Hz
Cc 2.50 Hz D 5.00 Hz

3 A 100 g marble is falling through air as shown below. Assume that air resistance is

negligible.

Which of the following is the likely resultant force acting on the marble?

A ON B 07N
c 1N D 1.7N
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4 The distance-time graph of a toy cart is shown below.

T L

v

§

1

1

tis

0 5 9 12
What was the average speed for the entire motion?
A 0.50¢ m/s B 0.58 m/s
Cc 0.75 m/s D 1.00 mfs

5 The diagram below shows a setup of a novelty wine bottle holder with a bottle of wine.
At which of the points shown is likely the centre of gravity of the setup?

6 A cylindrical container has a base area of A and height of h. When empty, it has a mass
of m. When itis fully filled with an unknown liquid, it has a mass of M. What is the density
of the unknown liquid?

M-m M
A AXh B AXh
¢ M-m@xh) AXh
M
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7 A hydraulic jack is used to raise a car as shown in the diagram below. Which one of the

following areas must be reduced to enable heavier loads to be lifted if the force applied
at the handle remains unchanged?

A box is pushed along a smooth surface with a 50 N force over a distance of 10 m in
4s.

50N —p! i

“ 10m >

What is the power exerted on the box over this period of time?

A 5w B 126 W
Cc 500 W D 2000 W

Which of the following is true when a sample of pure liquid is freezing?

internal KE internal PE
A decrease increase
B increase remain the same
C decrease remain the same
D remain the same decrease

10 A space shuttle is normally painted white to ensure the cockpit is not overheated by the

Sun. This is because

A white color materials are good absorber of radiation.
B white color materials are poor absorber of radiation.
c white color materials are poor emitter of radiation.

D white color materials are good conductor of radiation.
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11 Sonar can be used in mapping of underwater terrain. A puise of sound is emitted and
the time taken for the echo to be recorded is 1.5 s.

boat

pulse of

%/ sound

{not

scale)
What is the depth of the seabed given the speed of sound in sea water is 1500 m/s?
A 562 m B 1125 m

C 1688 m D 2250 m

12 Which of the following electromagnetic wave is the ionizing radiation with the longest
wavelength?
A X-ray
B microwave
C gamma ray
D

infrared radiation

13 A radio antenna is designed to receive signais with wavelength between 10 mm to
100 mm. What is the frequency range of the signali for this antenna?
A 3x10% Hz to 3x107 Hz
B 3x10° Hz to 3x10"9 Hz
c 3x10"? Hz to 3x10"" Hz
3] 3x10"3 Hz to 3x10" Hz
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14 The figure shows the path of a light ray R being reflected by two mirrors placed

perpendicularly to each other.

What is the value of r?
A 20° B 30°
C 459 D 60°

15 The speed of light in a clear plastic is 1.2 x 10® m/s. What is the refractive index of the

plastic?
A 0.40 B 1.20
c 1.80 D 2.50

16 A red light was shone into the glass block as shown in the diagram below. It strikes the
glass block with an angle of 30° to the air-glass boundary.

30° Air
Glass

Given that the glass block has a refractive index of 1.35, what is the angle of refraction
as the red light enters into the glass block?

A 39.9° B 21.7°
c 42.5° D 10.5°
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17 A positive charge A and a negative charge B are placed a short distance apart and a
small negative charge X is placed between them.

O

X

A B

In which direction does X move, and what is the force between A and B?

movement of X force between A and B
A towards A attraction
B towards B attraction
c towards A repulsion
D towards B repulsion

18 The diagram shows a circuit.

15v], REL
60
] i 00
7

What is the amount of current flowing through the 10Q resistor?

A 010A B 0.15A
c 024 A D 0.30A
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19 An electrical appliance has the following symbol on it.
Which of the following electrical safety device is not necessary?
A fuse
B circuit breaker
Cc earth wire
D switch
20 How many “100 W, 240 V" lamps can be connected in parallel to a socket fitted with a
13 A fuse?
A 5 B 6
Cc 31 D 32
21 Gas X has the following properties:
¢ less dense than air
» insoluble in water
Which method cannot be used to collect the gas X?
x . =
c T D
X —= ——
| °
==
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22 A gas, Y, was coliected by passing through a U-tube immersed in an ice mixture. The
gas condensed into a colourless liquid.

What could be the melting and boiling points of Y?

melting point/°C boiling point/°C
A 180 204
B -81 -84
c -114 152
D -123 21

23 The graph below shows the temperature changes during the heating of solid X at
atmospheric pressure.

temperaturefoC
N

150 -
140 1

80

30 7

time}min
Which of the following changes shows the greatest increase in volume of solid X?

A DE->EF B CD->EF

C BC->CD D AB->EF

24 A substance has the chemical formula of HOCH,CH{NH2)COGH. Which of the following
statements about the substance is correct?
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It contains 4 different elements.

It does not have a fixed composition by mass.

It can be separated into its constituents by fractional distillation.
its chemical properties are the same as those of its components.

o0 w >

25 Impure solid Y melts around 131 °C. What could be the meiting point of pure Y?

A 135°C B 131°C
C 129°C D 126°C

26 The diagram shows apparatus used to separate hexane (boiling point, 70 °C) and
heptane (boiling point, 98 °C).
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Which graph would be obtained if the temperature at point T was plotted against the
total volume of distillate collected?

A temperature/°C B temperaturerc
100 + 100
= : %
L . 813
r Kl
total volume of
distiitate/cm®

D temperature/°C

100 +
90 /
L 804
704 Mt
L.

| .
fotal volume of
total volume of
distifataicm® dictillatalem?

27 Anion XZ contains y neutrons and z electrons.

Which of the following represents the chemical symbol of X shown in the Periodic Table?
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X

y+z

z-2

X

y+z

13
B
z-Z2
y+z-2
D
z+2
y+z+2

28 Element M has electronic configuration of 2,8,7.
Element N has electronic configuration of 2,6.

Which statement best describes the compound formed between element M and element

N?

A The particles in the compound are held by strong electrostatic forces of attraction.
B The compound is able to conduct electricity at room temperature and pressure.

C The compound has a chemical formula of MN-.

D The compound is soluble in organic solvent.

29 What is the percentage by mass of water in copper(il) nitrate brystals, Cu(NO3)2.3H207?

A

B
c
D

223 %
10.5%
10.0 %
7.43 %

30 The table shows information about three indicators.
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- pH at which colour
indicator colour at pH 1 changes colour at pH 12
Congo red blue 5 red
Thymol blue red 3 yellow
Phenoiphthalein colourless 10 pink

All three indicators were added together to a sample of pure distilled water.
Which colour would be observed?

A violet B red

C orange D green

31  Which of the following elements burns in excess oxygen to form a neutral oxide?

A zZinc B
C hydrogen D

sulfur
carbon

32 Which pair of reagents is best used to prepare potassium nitrate crystals?

A agueous potassium carbonate and dilute nitric acid

B aqueous potassium chioride and aqueous calcium nitrate
C aqueous potassium sulfate and dilute nitric acid
D potassium metal and dilute nitric acid

33 In the Periodic Table, francium is in the same group as lithium and potassium.
Which statement about francium is likely to be correct?

A [t forms a nitrate with the formula of Fr{NO3)a.
B It has a meiting point lower than potassium,
C It forms an insoluble hydroxide.

D It reacts stowly with cold water.

34 The following set-up is used to investigate the rate of rusting of iron nails under different
conditions.
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Test tubes A and B contain iron nails that are covered partially with copper foil and zinc
foil respectively.

In which test tube will rusting of iron take place the fastest?

A B c D
b y ~ , CY [ 9 [
3 oi
i | boited tap 4 tap water i
water water
ieon na — iron nail fron nall covered iron nial covered
copperfof ~ | fol

35 Which of the following involves an endothermic change?

A H:0 (D> H0(s)

B NH4C! (s) 2 NH:C/ (aq)

C CH. (g) + 202 {g) > CO2 (g) + 2H:0 (@)

D CsH12056 (s) + 602 (g) > 6CO2 (g) + 6H20 (J)

36 Which row best describes what happens when a substance undergoes reduction?

oxygen electron
A loss gain
B loss loss
c gain gain
D gain loss

37 Two gases P and Q react to produce gas R.
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Both P and Q are placed in a container at room temperature as shown in the diagram
below.

Which of the following ways would increase the. speed of reaction?

A

B
C
D

Push the piston downwards.
Add argon into the container.

Decrease the amount of P particles in the container.
Decrease the temperature of the mixture in the container.

38 A sample of polluted air contains carbon dioxide, carbon monoxide, nitrogen, sulfur
dioxide and water vapour.

Which gases can aiso be found in a dry sample of unpolluted air?

A

B
Cc
D

carbon dioxide, carbon monoxide and nitrogen only
carbon monoxide, nitrogen and sulfur dioxide only
carbon dioxide, nifrogen and water vapour only
carbon dioxide and nitrogen only

39 The diagram below represents the process of fractional distillation of crude oil.

Canberra Secondary School Sceience (Physics/Chemistry) 5076/01
2020 Preliminary Examination Secondary 4 Express/ 5 Normat Academic
PartnerinLeaming

More bapers at wﬁlzl.testpapersfree.com

BP-~57




17
ff —
L
fractionating column —— E
furmace [ Y
erudeol — 1 E

I

t "1
heat

Which of the following statements about fractions X and Y is correct?

A

B
c
D

Y burns more easily than X.

Y consists of smaller molecules than X.
Y has a lower boiling point than X.

Y is more viscous than X.

40 Useful fractions are obtained by fractional distillation of petroleum.

Which fraction correctly matches its use?

fraction use
A diesel fuel for buses and lorries
B kerosene fuel for motorcars
C naphtha fuel for aircraft engines
D petrol fuel for cooking and heating
- END OF PAPER -
DATA SHEET
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Colours of Some Common Metal Hydroxides

calcium hydroxide white
copper(11} hydroxide light blue
iron(II} hydroxide green
iron(III) hydroxide red-brown
lead(l1} hydroxide white
Zinc hydroxide white
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Section A: [45 marks]

Answer all the questions. Write your answers in the spaces provided.

A1 The diagram below shows part of the Periodic Table.

H
- Be B C N 0 F
Na Mg A ¥ i ° -
K Ca ---------- Cu Zn Ga Ge As Se Br
Rb s | ---------- :

Answer the following questions using only the symbol of the elements shown in
the diagram.

Each element can be used once, more than once or not at all.

(a) Which two elements form the gas that is produced from power stations and
causes acid rain?
(b) Which element is found in an acid that produces white precipitate when
acidified aqueous silver nitrate is added?
{c) Which element exists as a pale yellow gas at room temperature and
pressure?
(d) Which two elements form a compound, which is used to test for the
presence of an oxidising agent?
Canberra Secondary School Science {Chemistry) 5076/03 5078/03
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A2 The table below confains details of six different particles. The letters are not the
chemical symbols.

K L M N o

nucleon 35 32 23 1 37 7
proon 17 16 11 1 17 3
numberof | 18 16 11 1 20 2

Use the table above to state which of the particles, K, L, M, N, O and P.

{(a) has no subatomic particles with relative charge of 0, ..................ol

{b) is placed in Group VI of the Periodic Table,  .........oiieiiiinne

(¢)  are both isofopes of the same element, ..l

(d} is an atom that will form an ionic compound with L, ...

(&) is an ion with a single positive charge. @ .. [5]
A3 10.0 g of sodium thiosulfate, Na;S203 was reacted with 200 cm? of 0.20 mol/dm?

of dilute hydrochloric acid. The chemical equation for the reaction is as shown

below.

Na2S20a3 (s) + 2HCI (aq) > 2NaCl (ag) + S (s) + SOz (g) + H20 (J)

{(a) Identify the limiting reagent in this reaction.

[3]
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(b} Hence, calculate the volume of sulfur dioxide produced.

{c) Explain why this reaction has to be carried out in a well-ventilated space.

...............................................................................................

A4 The diagram below shows a series of tests conducted using a sample of an alloy

containing two metals.

white precipitate O

add acidified

aqueous barium nifrate

add acid M

alloy —P| solutionN | +| gasR

add aqueous
ammonia gropwise

h 4
mixture of white and

green precipitate
add excess
agqueous ammonia
white precipitate P
dissolves while
green precipitate Q
remains

(a) | Identify the following substances:

M
O
R
Canberra Secondary School Science (Chemistry) 5076/03 5078/03
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(b) |dentify the two metals present in the alloy.

...............................................................................................

(c) Write an ionic equation for the formation of white precipitate O.

...............................................................................................

A5 Four metals,' W, X, Y and Z are tested with cold water, steam and dilute

hydrochloric acid separately.

The table below shows the results of the experiment.

reaction with
metal dilute aqueous
cold water steam hydrochloric | copper(Il)
acid sulfate
w X vy y
X \ v v
Y X X X
Z X X ‘\J
key:

+): reaction occurred
x: no visible reaction

(a) Arrange the four metals, W, X, Y and Z in increasing order of reactivity.

(b) Predict the reaction of the four metals with aqueous copper(il} sulfate by

filling in the blanks with ‘¥’ or X’ in the table above.

(¢} Metal W is often mixed with carbon to form an alloy, steel, in industries.

(i Identify metal W.

Canberra Secondary School Science (Chemistry) 5076/03 5078/03
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(ii} Explain why steel is preferably used in industries as compared to
metal W.

........................................................................................

........................................................................................

........................................................................................ 2]
A8 In an experiment, 20.0 cm?® of dilute hydrochloric acid was placed in a styrofoam
cup. 1.0 mol/dm?® agqueous sodium hydroxide was added to the acid, 2.0 cm® at a
time. The mixture was then stirred and the highest temperature reached was
recorded after each addition. The graph below shows the results of the
experiment.
temperature/C
35
30
i
/
25 S b
/
20
15
10
5
0
0 2 4 6 8 10 12 14 16
volume of NaOH added/cm?
{a) Name the type of energy change shown in the results.
................................................................................................ 1]
(b) State the volume of aqueous sodium hydroxide required to neutralise 20.0
cm? dilute hydrochloric acid.
................................................................................................ [1]
(c) Write a balanced chemical equation for the reaction. Include state symbols.
................................................................................................ {2}
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(d) Calculate the concentration, in mol/dm3, of dilute hydrochloric acid used in
the experiment.

A7 A student carried out a series of experiments to determine the speed of reaction
between marble chips (calcium carbonate) and excess dilute nitric acid by
measuring the volume of gas produced at a fixed time interval.

In experiment 1, he used 5.0 g of marble chips and 200 cm? of 1.0 mol/dm? dilute
nitric acid at 25 °C.

The experiments were repeated twice with some changes in the conditions used.

Experiment II: 5.0 g of calcium carbonate powder and 200 cm® of 1.0 mol/dm?
dilute nitric acid at 25 °C.

Experiment III: x g of marble chips and 200 cm?® of 1.0 mol/dm? of dilute nitric
acid at 10 °C.

The graph below shows the volume of gas produced plotted against time.

volume of
gas collect/cm?® 4
v - experiment X
AR experiment I
time/min
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9
(a) Write a balanced chemical equation, with state symbols, for the reaction
between marble chips and dilute nifric acid.
................................................................................................ 2]
(b) Describe a test to identify the gas produced in the reaction.
................................................................................................ M
(c) State the value of x in experiment Il
................................................................................................ 1]
(d) Sketch on the axes, on page 7, the graph of experiment IL. Label your
graph, [1]
(e) State and explain one other method fo increase the speed of reaction in
experiment I.
................................................................................................ [2]
AB Red grapes contain a few coloured pigments. Small amounts of these pigments
~ are separated by paper chromatography using a solvent.
(a) Suggest a solvent that can be used {o separate the pigments.
................................................................................................ [1]
(b} Explain why the sclvent can allow the different pigments to be separated.
................................................................................................ 1]
{c)  Tartaric acid, a weak acid with the formula of C2H2{OH)z(CO2H)2, can
aiso be extracted from grape juice.
(i} Describe a simple test to show that tartaric acid is weak acid.
......................................................................................... [2)
Canbemra Secondary School Science (Chemistry) 5076/03 5078/03
2020 Preliminary Examination Secondary 4 Exprese / § Normal Acadamic

PartnerinLeaming

More papers at wxv‘!/.testpapersfree.com

BP~71




BP-~72

10

(i) Calculate the relative molecular mass of tartaric acid.

1
(iii) Calculate the mass of tartaric acid if 0.0500 mol of tartaric acid is
used in a reaction.
{1
- End of Section A -
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Section B: [20 marks]
Answer any two questions. Write your answers in the space provided.
B9 Group VII elements exists as diatomic molecules and are strong oxidising
agents. Chlorine is an example of a group VII slement that is highly reactive.
(a) Chlorine gas reacts readily with Group II metals to form a chloride salt.

(i} Name a Group Il metal. Write a balanced chemical equation to show
the reaction of chlorine with the metal.

.......................................................................................... [2]
(ii) Draw a 'dot and cross’ diagram to show the bonding in the chloride
salt formed. Show only vaience electrons.
[2]
(i) Predict the electrical conductivity of the chloride salt at room
temperature and pressure. Explain your answer.
.......................................................................................... [2]
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(b) Aqueous chlorine is added to aqueous potassium bromide. The equation
for the reaction is:

Cl; (aq) + 2KBr (aq) - 2KC! (aqg) + Brz (aq)

(i) Explain, in terms of oxidation states, why aqueous chlorine is a
strong oxidising agent.

.......................................................................................... [2]
(ii) Describe and explain the observation made for the reaction.
.......................................................................................... [2]
B10 Lead(lI) sulfate is an insoluble salt that can be prepared in the laboratory.
(a) Describe the steps required to prepare a pure sample of lead(Il) suifate
from lead(II) oxide.
................................................................................................ [6]
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(b) Lead(l) sulfate has a melting point of 1087 °C.
(i) Sketch a labelled graph to show the cooling curve of molten lead(II)
sulfate when it is cooled from 1300 °C to 800 °C.

(2]

(ii)  Describe the arrangement and movement of the particles of lead(lI)
sulfate at 800 °C.

B11 The apparatus shown below was set up and a sample of decane, C1Hz2, was
heated strongly in the presence of a solid catalyst. The products obtained were

a mixture of smaller hydrocarbons in gaseous state.

solid catalyst
1 gaseocus

ceramic wool

oo VI SR 22 S N
8 P\
S =

................................................................................................
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(b} Identify the solid catalyst and temperature used in the setup.

................................................................................................ [21
(c) A safety precaution for the experimental setup above is to ensure that the
delivery tube is withdrawn from the water as soon as the heating stopped.
Explain why this is necessary.
................................................................................................ [
(d) Decane is broken down into 2 molecules of CzHas, hydrogen gas and
another product, X.
(i) Deduce the chemical formula of X.
........................................................................................ 1]
(i) Which homologous series does X belong to?
........................................................................................ [1]
(i) Write a balanced chemical equation to show the complete
combustion of X.
........................................................................................ 11
(iv) Xis often found in the mixture of petrol.
Describe how petrol can be separated from petroleum.
........................................................................................ [3]
- End of Paper -
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DATA SHEET

Colours of Some Common Metal Hydroxides

calcium hydroxide white
copper{ll) hydroxide light blue
iron(II) hydroxide green
iron(III) hydroxide red-brown
tead(I1) hydroxide white
zinc hydroxide white

Canberra Secondary School

2020 Preliminary Examination

Science {Chemistry) 5076/03 5078/03
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2020 4E5N Sci Chem Paper
Paper 3 Suggested Answers

Section A
Ala Sand O [1]
A1lb Cl [1]
Alc__|F 1
Ald Kand I 1]
A2a N [1]
A2b L [1]
A2c Kand O [1]
A2d M [1]
A2e P (1]
Ala mol of Na»S203 = 10.0 / [2(23) + 2(32) + 3(16)] [3]
=10.0/158
= 0.0633 mol - [11
mol of HCI = (200 / 1000) x 0.20
= 0.0400 mol 11
Na2S:0;: HC!
1 2

0.0633 mol : 0.127 mol

Since 0.127 mol of HCI is required to react with 0.0633 mol of NazS;03 but

only 0.0400 mol of HC! is given, HC! is limiting. [1]

[Deduct 1m overall if no 3 sig. fig. is given / poor presentation of working.]
A3b HCi: SO2 [1]

2 :1
0.0400 mol : 0.0200 mol
vol of SOz = 0.0200 x 24
= 0.480 dm?

[Allow ecf.]
Adc Sulfur dioxide produced will cause irritation to eyes and lungs if the space is | [1]

not well-ventilated. '
Ada M: sulfuric acid [3]

Q: barium sulfate

R: hydrogen
Adb Iron and zinc 2]
Adc Ba?* (aq) + SO4* (aq) -> BaSO, (s) [1
ASa |Y,ZWandX [1]
ASb || metal | reaction with 112
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dilute agqueous
cold water steam hydrochloric copper(ll}
acid sulfate
w x v Y y
X v v v v
Y X X X X
z X X v v
[Any 2 correct answers 1m; All 4 cbrrect answers 2m]
A5ci Iron 1]

AScii | Steel is stronger / harder than metal W. The atoms of different elements have | [2]
different sizes that disrupt the orderly arrangement of layers of metal atoms
in pure metals. [1] This prevents the layers of atoms from sliding over one
another when a force Is applied. [1}

ABa Exothermic 1]
A6b 11 em3 or 11.2 cm?3 [1]
Abc HCi (ag) + NaOH (aq) 2> NaCl (aq) + H:0 () [2]

[1m for correct formula; 1m for correct state symbols] '
Abd mol of NaOH = 1.0 x (11 / 1000) [2]

=0.0110 mol i1l or 0.0112 mol
NaOH : HC/
1 1
0.0110 mol : 0.0110 mot or 0.0112 mo!: 0.0112 mol

conc of HC! = 0.0110 / (20.0 / 1000)

= 0.550 mol/dm? [11 or 0.560 mol/dm?

[Second mark will not be awarded if mole rafio is not shown.]

Ata 2HNO; (aq) + CaCOs (s) > Ca(NOs)2 (aq) + COz(g) + H20 () [2]

[1m for correct formula; 1m for correct balancing and state symbols]

A7b Bubble gas info limewater. White precipitate is formed in limewater if carbon | [1]
dioxide is produced.
ATc 25 [1]

PartnerinLeaming
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AT7d volume of (1]
gas collectfom® 4
experiment IT .
v - experiment I
VAR experiment oI
1 - S
time/min
ATe Increase the concentration of nitric acid. [1] With higher concentration of acid, | [2]
there are more reacting particles in the same volume / per unit volume.
This increases the frequency of successful collision between reacting
particles and hence increases speed of the reaction. [1]
ABa Water / Ethanol [
A8b Different pigments have different solubility in the solvent. [1]
ABci Add a few drops of Universal Indicator into tartaric acid. [1] Universal [2]
Indicator will tum from green to yellow/orange if it is a weak acid. [1]
A8cii | Mr of tartaric aicd = [4(12) + 6(1) + 6(16)] 1]
=150
ABciii | mass of tartaric acid = 150 x 0.0500 11
=7.50g
Section B
B9al magnesium (2]
Mg + Cl> > MgCl2
[Accept any other Group 1I metals.]
B8ail — — — e - . [2]
[1m for correct number of charges; 1m for correct number of valence
electrons]
[Deduct 1m if students do not show alterate arrangement of lons]
B9aiii | It does not conduct electricity at solid state. [1] It does not have free [2]
moving ions to carry charges as they are held in fixed position in the giant
lattice structure. [1]
B9bi Agqueous chlorine / Cl; oxidises KBr to form Br.. [1] KBr is oxidised to [2]
form Br2 as the oxidation state of Br increases from -1 in KBr to 0 in Bra.
[1]
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B9bii

Colourless solution turns red-brown. {1] Chlorine, being more reactive,

displaces from bromine from potassium bromide / its solution. [1]

{2

B10a

Add excess lead(IT) oxide into nitric acid. [1]

Filter to remove excess lead(II) oxide. [1]

Add aqueous sodium sulfate / sulfuric acid into the filtrate, aqueous
lead(I) nitrate. [1]

Stir for lead(l1) sulfate precipitate to form.

Filter to obtain lead(lI) sulfate as residue. [1]

Wash residue with distilled water. [1}]

Dry residue between pieces of filter paper. [1]

[If method is wrong but some steps are correct, total mark cannot be more
than 3m.]

6}

B10bi

temperature/cC
1300+
1087 +

800+

[1m for correct labelling of the axis and temperature]
[1m for correct shape and graph does not exceed 1300 °C or 800 °C]
[No mark award if shape is wrong.]

(2]

B10bii

The particles are closely packed in an orderly manner. [1] They are

[2]

vibrating and rotating at fixed position. [1]

B11a

Cracking

[1]

B11b

Aluminium oxide / Silicon dioxide catalyst [1]
600 °C [1]
[Accept temperature between 450 °C to 700 °C.]

(2]

B11c

To prevent breakage of test tube due to the suck back of water.

[1]

B11dl

CegHq2

[1]

B11dii

Alkenes

[1]

B11diti

CeHiz + 902 = 8H20 + 6C0:

[1]

B11div

Pstroleum is first heated in a furnace. It then vaporises and is passed into a
fractionating column. [1] The vapour then cools and condenses at different
heights depending on their boiling points. [1] The fraction with the lowest
boiling point condenses at the top of the column. The fraction with the
highest hoiling point condenses at the bottom of the column. Petrol is

collected near the top of the column.[1]

[3]
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